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Was ist die richtige Losung? (plus Zahlen bis 100)

Plusrechnen

4 89 +6= 5 846 +4= t& 580 +6 =
o 150+2= s 233+ 7= 0. FF&+6=
0897 +6= 1.918+0= 12852 +10=
13299 +5= 14362 +4= 5. f33+3=
16.361+6= 17.239+F= 18212 +10=
v 61 +1= 0 519 +6= 21946 +3 =
2333 +0= 2906 +0= 7% 3+6=
s 84 +3= 6. 5F+10= 7 91 +6=
% 241 +9= 9. 570+6= 0 fF4+2=
31.215+3 = 2. 58 +6= 2610+4=
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Was ist die richtige Lsung? (plus Zahlen bis 100) | ANTWORTEN * KK

Plusrechnen

0.897+6= 903 , 918+0= 918 ,852+ 10 = 862
13259 +5= 264 1,362+ 4= 366 5733+3= 1736
6361+ 6= 367 |, 239+ 7= 246 5212 +10 =222
9. 761+ 1= 762 5, 579+ 6= 585 , 946 +3 = 949
2.333+0= 333 5 906+0= 906 ., 3+6= 9
5 84+3= 87 ., B57+10= 67 91 +6= 977
. 241+9= 250 5, 570+ 6= 576 5 774+ 2= T76
31.215+3= 218 5 B8+6= 64 33610+ 4= 614
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